Electronic Journal of Differential Equations, Vol. 2015 (2015), No. 66, pp. 1–10. ISSN: 1072-6691. URL: http://ejde.math.txstate.edu or http://ejde.math.unt.edu ftp ejde.math.txstate.edu

STABILIZATION FOR 1-D HYPERBOLIC DIFFERENTIAL EQUATIONS WITH BOUNDARY INPUT INCLUDING A NONLINEAR DISTURBANCE

XIAOYING ZHANG, SHUGEN CHAI

ABSTRACT. We consider the stabilization for 1-D hyperbolic differential equations with boundary input including a nonlinear disturbance. The time varying extended state observer (ESO) is designed to estimate the disturbance. Based on the estimated disturbance, we obtain an explicit controller by applying the backstepping method. It is shown that the closed-loop system of the 1-D hyperbolic differential equation is asymptotically stable under this controller. This result is illustrated by simulation examples.

1. INTRODUCTION

Recently, stabilization problems of PDEs, such as a string, a beam, a chemical tubular reactor, have received a lot of attention [2, 5, 6, 8, 9, 10, 11, 12, 13]. For the first-order hyperbolic system, some stability problems were studied in [1, 3, 4, 15, 16, 17]. However, as far as we know, there are only a few papers that consider stability for the first-order hyperbolic system with boundary input matched with disturbance. It is well-known that when the small disturbance on boundary happens, the system can become instable, even has no solution.

In this article concerns the stabilization for 1-D hyperbolic differential equation with boundary input matched with nonlinear disturbance

$$u_t(t,x) = u_x(t,x) + \int_0^x f(x,y)u(t,y) \, dy + g(x)u(t,0), \quad x \in (0,1), \ t > 0,$$

$$u(t,1) = U(t) + d(t), \quad t \ge 0,$$

$$u(0,x) = u_0(x),$$

(1.1)

where u is the state, U is the control input, the disturbance d(t) is assumed to be bounded in the Euclidean norm. And $g \in C[0,1]$, $f \in C(\overline{\Omega})$, $\Omega = \{(x,y) : 0 < x, y < 1\}$.

²⁰⁰⁰ Mathematics Subject Classification. 49K20, 93C20.

Key words and phrases. Extended state observer; disturbance rejection; backstepping method; 1-D hyperbolic equation.

^{©2015} Texas State University - San Marcos.

Submitted December 12, 2014. Published March 18, 2015.

For (1.1), when d(t) is absent, the system is null controllable and the backstepping controller can be chose as in [14, 15],

$$U(t) = \int_0^1 k(1, y)u(t, y) \, dy, \tag{1.2}$$

where k(x, y) satisfies

$$k_x(x,y) + k_y(x,y) = \int_y^x k(x,\xi) f(\xi,y) \, d\xi - f(x,y), \quad x,y \in \overline{\Omega}, \ t > 0,$$

$$k(x,0) = \int_0^x k(x,y) g(y) \, dy - g(x), \quad x \in [0,1].$$
 (1.3)

Note that (1.3) is well-posed, see [15, 16].

The objective of this article is to estimate the disturbance based on the time varying extended state observer designed, and redesign a continuous controller U(t), to stabilize system (1.1) in the presence of a disturbance. We consider systems (1.1) in the state space $H = L^2(0, 1)$.

2. Preliminary Lemma

Following the ideas in [15, 16], we introduce a inverse transformation

$$V(t,x) = u(t,x) - \int_0^x k(x,y)u(t,y) \, dy.$$
(2.1)

This function transforms (1.1) into the system

$$V_t(t,x) = V_x(t,x), \quad x \in (0,1), \ t > 0,$$

$$V(t,1) = U(t) - \int_0^1 k(1,y)u(t,y) \, dy + d(t), \quad t \ge 0,$$

$$V(0,x) = V_0(x).$$

(2.2)

In what follows, we consider the stabilization of (2.2), and in the final step to go back to system (1.1), under the inverse transformation.

Introduce a new controller $U_0(t)$ such that

$$U(t) = U_0(t) + \int_0^1 k(1, y)u(t, y) \, dy.$$
(2.3)

Then system (2.2) becomes

$$V_t(t,x) = V_x(t,x), \quad x \in (0,1), \ t > 0,$$

$$V(t,1) = U_0(t) + d(t), \quad t \ge 0,$$

$$V(0,x) = V_0(x).$$
(2.4)

To write this system in operator form, we define the operator A and B as follows:

$$Af = f', \quad D(A) = \left\{ f \in H^1(0,1) \middle| f(1) = 0 \right\}, \tag{2.5}$$

$$B = \delta(x - 1). \tag{2.6}$$

Then we can write system (2.4) as an evolutionary equation in H:

$$\frac{d}{dt}V(t,x) = AV(t,x) + B(U_0(t) + d(t)).$$
(2.7)

Lemma 2.1. Let A, B be defined in (2.5) and (2.6). Then

(i) A generates a strongly continuous semigroup.

(ii) B is admissible to the semigroup e^{At} .

Proof. It is well-known that A generates a strongly continuous semigroup T(t), and $\sigma(A) = \emptyset$, $\omega_0(T(t)) = -\infty$ [18]. This shows that A generates an exponential stable C_0 -semigroup e^{At} on H.

Now we show that B is admissible for e^{At} . Actually, a straightforward computation gives the adjoint of (2.5),

$$A^*g = -g',$$

$$D(A^*) = \{g \in H^1(0,1) | g(0) = 0\}.$$
(2.8)

The dual system to (2.7) is

$$\frac{d}{dt}V^{*}(t,x) = A^{*}V^{*}(t,x),$$

$$y(t) = B^{*}V^{*}(t,x).$$
(2.9)

That is,

$$V_t^*(t, x) = -V_x^*(t, x),$$

$$V^*(t, 0) = 0,$$

$$y(t) = V^*(t, 1).$$

(2.10)

On the one hand, for all $f \in H$,

$$(A^*)^{-1}f = -\int_0^x f(s)ds,$$
(2.11)

and

$$B^*(A^*)^{-1}f = -\int_0^1 f(s)ds,$$
(2.12)

which is bounded from H to C.

On the other hand, we define the energy function for (2.10) as

$$E(t) = \frac{1}{2} \int_0^1 (V^*)^2(t, x) dx.$$
(2.13)

Differentiate E(t) with respect to t along the solution to (2.10) we obtain

$$\dot{E}(t) = -\frac{1}{2}(V^*)^2(t,1).$$
 (2.14)

Choose the function

$$\rho(t) = \int_0^1 x (V^*)^2(t, x) dx.$$
(2.15)

Then, $|\rho(t)| \leq 2E(t)$. Differentiate $\rho(t)$ to give

$$\int_0^T (V^*)^2(t,1)dt \le 2(T+2)E(0), \tag{2.16}$$

This together with boundedness of $B^*(A^*)^{-1}$ shows that B is admissible to the semigroup generated by A [7].

3. Estimate for the disturbance

The solution of (2.4) is understood in the sense that

$$\frac{d}{dt}\langle V(t,\cdot),f\rangle = \langle V(t,\cdot),A^*f\rangle + f(1)(U_0(t) + d(t)), \quad \forall f \in D(A^*).$$
(3.1)

Let $f(x) = 2x^2 + x \in D(A^*)$ in (3.1) to obtain

$$\dot{y}_1(t) = 3(U_0(t) + d(t)) - y_2(t),$$
(3.2)

where

$$y_1(t) = \int_0^1 (2x^2 + x)V(t, x)dx, \ y_2(t) = \int_0^1 (4x + 1)V(t, x)dx.$$
(3.3)

It is seen that (3.2) is an ODE with state $y_1(t)$ and control U(t) with disturbance d(t). We design a time varying high gain extended state observer to estimate disturbance d(t) and $y_1(t)$ as follows:

$$\dot{\hat{y}}(t) = 3(U_0(t) + \hat{d}(t)) - y_2(t) + r(t)(y_1(t) - \hat{y}(t)),$$

$$\dot{\hat{d}}(t) = \frac{1}{3}r^2(t)(y_1(t) - \hat{y}(t)),$$
(3.4)

where r(t) is time varying function satisfying

$$\dot{r}(t) > 0, \quad \lim_{t \to \infty} r(t) = \infty, \quad \frac{\dot{r}(t)}{r(t)} \le M, \quad \forall t \ge 0, \ M > 0.$$
 (3.5)

Lemma 3.1. Suppose that the disturbance d(t) is bounded on $[0,\infty)$ and satisfies

$$\lim_{t \to \infty} \frac{\dot{d}(t)}{r(t)} = 0.$$
(3.6)

Then, the solution of (3.2) satisfies

$$\lim_{t \to \infty} |y_1(t) - \hat{y}(t)| = \lim_{t \to \infty} |d(t) - \hat{d}(t)| = 0.$$
(3.7)

Proof. Let

$$\tilde{y}(t) = r(t)(y_1(t) - \hat{y}(t)), \ \tilde{d}(t) = (d(t) - \hat{d}(t))$$
(3.8)

be the estimator errors. Then, by the system (3.2) and (3.4), the error (\tilde{y}, \tilde{d}) satisfies

$$\dot{\tilde{y}}(t) = -r(t)\tilde{y}(t) + 3r(t)\tilde{d}(t) + \frac{\dot{r}(t)}{r(t)}\tilde{y}(t),$$

$$\dot{\tilde{d}}(t) = -\frac{1}{3}r(t)\tilde{y}(t) + \dot{d}(t).$$
(3.9)

For system (3.9), we construct the Lyapunov function

$$V\left(\tilde{y}(t),\tilde{d}(t)\right) = \tilde{y}^2(t) + \frac{21}{2}\tilde{d}^2(t) - \tilde{y}(t)\tilde{d}(t).$$
(3.10)

It follows that

$$\frac{1}{11}V\left(\tilde{y}(t),\tilde{d}(t)\right) \le \tilde{y}^2(t) + \tilde{d}^2(t) \le 2V\left(\tilde{y}(t),\tilde{d}(t)\right).$$
(3.11)

Along with (3.5), finding the derivative of V along the solution of (3.9), we obtain

$$\begin{split} \dot{V}(t) &= \left(-\frac{5}{3}r(t) + 2\frac{\dot{r}(t)}{r(t)}\right)\tilde{y}^{2}(t) - 3r(t)\tilde{d}^{2}(t) - \frac{\dot{r}(t)}{r(t)}\tilde{y}(t)\tilde{d}(t) + 21\tilde{d}(t)\dot{d}(t) - \tilde{y}(t) \\ &\leq \left(-\frac{5}{3}r(t) + \frac{5}{2}\frac{\dot{r}(t)}{r(t)}\right)\tilde{y}^{2}(t) - \left(3r(t) - \frac{1}{2}\frac{\dot{r}(t)}{r(t)}\right)\tilde{d}^{2}(t) + 21\dot{d}(t)(|\tilde{d}| + |\tilde{y}|). \end{split}$$

$$(3.12)$$

$$K(t) = \min\left\{\frac{5}{3}r(t) - \sup\frac{5}{2}\left|\frac{\dot{r}(t)}{r(t)}\right|, 3r(t) - \sup\frac{1}{2}\left|\frac{\dot{r}(t)}{r(t)}\right|\right\}.$$
(3.13)

By (3.5), we obtain

$$\lim_{t \to \infty} K(t) = \infty. \tag{3.14}$$

Noticing (3.11),

$$\dot{V}(t) \le -\frac{K(t)}{11}V(t) + 42\sqrt{2}\sqrt{V(t)}|\dot{d}(t)|.$$
(3.15)

That is,

$$\frac{d\sqrt{V(t)}}{dt} \le -\frac{K(t)}{22}\sqrt{V(t)} + 21\sqrt{2}\dot{d}(t).$$
(3.16)

Integrating (3.16), from 0 to t, yields

$$\sqrt{V(t)} \le 21\sqrt{2} \frac{\int_0^t |\dot{d}(s)| e^{\int_0^s \frac{1}{22}K(\tau)d\tau} ds}{e^{\int_0^t \frac{1}{22}K(\tau)d\tau}}.$$
(3.17)

We can apply the L'Hospital rule to the right side of (3.17) and the condition of Lemma 3.1 to obtain

$$\lim_{t \to \infty} \frac{\int_0^t |\dot{d}(s)| e^{\int_0^s \frac{1}{22}K(\tau)d\tau} ds}{e^{\int_0^t \frac{1}{22}K(\tau)d\tau}} = \lim_{t \to \infty} \frac{22|\dot{d}(t)| e^{\int_{t_0}^t \frac{1}{22}K(\tau)d\tau}}{e^{\int_0^t \frac{1}{22}K(\tau)d\tau}K(t)} = 0.$$
(3.18)

By (3.17) and (3.18), we have

$$\lim_{t \to \infty} \sqrt{V(t)} = 0. \tag{3.19}$$

Along with (3.11), this implies

$$\lim_{t \to \infty} \tilde{y}(t) = 0, \quad \lim_{t \to \infty} \tilde{d}(t) = 0.$$
(3.20)

Since $y_1(t) - \hat{y}(t) = \frac{\tilde{y}(t)}{r(t)}$, we finally obtain

$$\lim_{t \to \infty} |y_1(t) - \hat{y}(t)| = 0.$$
(3.21)

Then, (3.7) follows from (3.20) and (3.21).

Remark 3.2. Note that in Lemma 3.1, the derivative of disturbance d(t) is not bounded, and a time varying high gain extended state observer have been designed. However, when r(t) has constant gain, a more strict condition the derivative of disturbance d(t) is needed, to be bounded. In fact, after time varying high gain extended state observer reduce the peak value in initial state, the derivative of disturbance can become bounded. From the practice point of view, we begin to use the constant gain extended state observer to filter the noise. For example, choosing $r(t) = \frac{1}{\varepsilon}$, we design a constant high gain extended state observer for (3.2) to estimate $y_1(t)$ and d(t) as follows:

$$\dot{\hat{y}}(t) = 3(U_0(t) + \hat{d}(t)) - y_2(t) + \frac{1}{\varepsilon}(y_1(t) - \hat{y}(t)),$$

$$\dot{\hat{d}}(t) = \frac{1}{3\varepsilon^2}(y_1(t) - \hat{y}(t)),$$

(3.22)

where ε is the tuning small parameter. Using the similar method, we can also prove $|\hat{y}(t) - y_1(t)| + |\hat{d}(t) - d(t)| \to 0$ as $t \to \infty, \varepsilon \to 0$. We omit the proof here.

4. Proof of main results

Choose $U_0(t) = -\hat{d}(t)$, the closed-loop is governed by

$$V_{t}(t,x) = V_{x}(t,x), \quad x \in (0,1), \ t > 0,$$

$$V(t,1) = U_{0}(t) + d(t), \quad t \ge 0,$$

$$\dot{y}_{1}(t) = 3(U_{0}(t) + d(t)) - y_{2}(t),$$

$$\dot{\hat{y}}(t) = 3(U_{0}(t) + \hat{d}(t)) - y_{2}(t) + r(t)(y_{1}(t) - \hat{y}(t)),$$

$$\dot{\hat{d}}(t) = \frac{1}{3}r^{2}(t)(y_{1}(t) - \hat{y}(t)),$$

(4.1)

In the next section, we will prove that the closed-loop (4.1) is well-posed and stable.

Theorem 4.1. Suppose that d is bounded measurable and satisfies (3.6), r(t) satisfies (3.5). Then for any initial value $(V(0, x), y_1(0), \hat{y}(0), \hat{d}(0)) \in H \times \mathbb{R}^3$, the closed-loop system of (4.1) admits a unique solution $(V, y_1, \hat{y}, \hat{d}) \in C(0, \infty; H \times \mathbb{R}^3)$, and the solution V tends to zero as $t \to \infty$, $\hat{y}(t), \hat{d}(t)$ satisfy (3.7).

Proof. Introduce error variables $\tilde{y}(t) = r(t)(y_1 - \hat{y}(t)), \ \tilde{d}(t) = (d(t) - \hat{d}(t)),$ the system (4.1) is equivalent system (4.2)

$$V_{t}(t,x) = V_{x}(t,x), \quad x \in (0,1), \ t > 0,$$

$$V(t,1) = \tilde{d}(t), \quad t \ge 0,$$

$$\dot{\tilde{y}}(t) = -r(t)\tilde{y}(t) + 3r(t)\tilde{d}(t) + \frac{\dot{r}(t)}{r(t)}\tilde{y}(t),$$

$$\dot{\tilde{d}}(t) = -\frac{1}{3}r(t)\tilde{y}(t) + \dot{d}(t),$$

(4.2)

We can see the closed-loop system (4.2) is a "PDE" and "ODE" coupled system. By Lemma 3.1, the "ODE" section of system (4.2) is proved. We only need to prove the "PDE" section. The "PDE" section of the system (4.2) becomes

$$V_t(t,x) = V_x(t,x), \quad x \in (0,1), \ t > 0,$$

$$V(t,1) = \tilde{d}(t), \quad t \ge 0,$$

$$V(0,x) = V_0(x).$$
(4.3)

This system can be rewritten as an evolution equation in H,

$$\frac{d}{dt}V(t,x) = AV(t,x) + B\tilde{d}(t), \qquad (4.4)$$

where A, B are the same as that in (2.5) and (2.6).

By Lemma 2.1, suppose that $||e^{At}|| \leq L_0 e^{-\omega t}$ for some $L_0, \omega > 0$. For any initial value $V(0, \cdot) \in H$, there exists a unique solution $V \in C(0, \infty; H)$ that can be written as

$$V(t,\cdot) = e^{At}V(0,\cdot) + \int_0^t e^{A(t-s)}B\widetilde{d}(s)ds.$$

$$(4.5)$$

By Lemma 3.1, for any given $\varepsilon_0 > 0$, there exist $t_1 > 0$ and $\varepsilon_1 > 0$ such that $|\tilde{d}(t)| < \varepsilon_0$ for all $t > t_1$ and $0 < \varepsilon < \varepsilon_1$. We rewrite (4.5) as

$$V(t,\cdot) = e^{At}V(0,\cdot) + e^{A(t-t_1)} \int_0^{t_1} e^{A(t_1-s)} B\widetilde{d}(s)ds + \int_{t_1}^t e^{A(t-s)} B\widetilde{d}(s)ds.$$
(4.6)

The admissibility of B implies

$$\left\|\int_{0}^{t} e^{A(t-s)} B\widetilde{d}(s) ds\right\|_{H}^{2} \le C_{t} \|\widetilde{d}(t)\|_{L^{2}(0,t)}^{2} \le C_{t} t \|\widetilde{d}(t)\|_{L^{\infty}(0,t)}^{2}.$$
(4.7)

for some constant C_t that is independent of $\tilde{d}(t)$ [7, Definition 6.6]. Because e^{At} is exponentially stable, it follows from [19, Proposition 2.5] that

$$\left\|\int_{t_1}^t e^{A(t-s)} B\widetilde{d}(s) ds\right\|_H = \left\|\int_0^t e^{A(t-s)} B(0\diamond_{t_1} \widetilde{d})(s) ds\right\|_H$$

$$\leq L \|\widetilde{d}(t)\|_{L^{\infty}(t_1,\infty)} \leq L\varepsilon_0,$$
(4.8)

where L is a constant that is independent of \tilde{d} , and

$$(d_1 \diamond_\tau d_2)(t) = \begin{cases} d_1(t), & 0 \le t \le \tau, \\ d_2(t) & t > \tau \end{cases}$$
(4.9)

where the left-hand side of (4.9) denotes the τ -concatenation of d_1 and d_2 [18].

By (4.6), (4.7) and (4.8), we have

$$\|V(t,\cdot)\| \le L_0 e^{-\omega t} \|V(0,\cdot)\| + L_0 C_{t_1} t_1 e^{-\omega(t-t_1)} \|\tilde{d}(t)\|_{L^{\infty}(0,t_1)} + L\varepsilon_0.$$
(4.10)

As $t \to \infty$, the first two terms of right hand side for (4.10) tend to zero. The result is then proved by the arbitrariness of ε_0 .

Remark 4.2. Under the constant high gain extended estimated observer (3.22), the closed loop system is governed by

$$V_{t}(t,x) = V_{x}(t,x), \quad x \in (0,1), t > 0,$$

$$V(t,1) = U_{0}(t) + d(t), \quad t \ge 0,$$

$$\dot{y}_{1}(t) = 3(U_{0}(t) + d(t)) - y_{2}(t),$$

$$\dot{\hat{y}}(t) = 3(U_{0}(t) + \hat{d}(t)) - y_{2}(t) + \frac{1}{\varepsilon}(y_{1}(t) - \hat{y}(t)),$$

$$\dot{\hat{d}}(t) = \frac{1}{3\varepsilon^{2}}(y_{1}(t) - \hat{y}(t)),$$
(4.11)

This system is equivalent to the system

$$V_t(t,x) = V_x(t,x), \quad x \in (0,1), \ t > 0,$$

$$V(t,1) = \tilde{d}(t), \quad t \ge 0,$$

$$\dot{\tilde{y}}(t) = -\frac{1}{\varepsilon} \tilde{y}(t) + \frac{3}{\varepsilon} \tilde{d}(t),$$

$$\dot{\tilde{d}}(t) = -\frac{1}{3\varepsilon} \tilde{y}(t) + \dot{d}(t),$$

(4.12)

The solution of system (4.12) also tends to zero as $t \to \infty$, $\varepsilon \to 0$.

Theorem 4.3. Suppose that d is bounded measurable and satisfies (3.6), r(t) satisfies (3.5). Choose the controller $U(t) = \int_0^1 k(1, y)u(t, y) dy - \hat{d}(t)$. Then for any initial value $(u(0, x), y_1(0), \hat{y}(0), \hat{d}(0)) \in H \times \mathbb{R}^3$, the closed-loop system of (1.1) following

$$u_{t}(t,x) = u_{x}(t,x) + \int_{0}^{x} f(x,y)u(t,y) \, dy + g(x)u(t,0), \quad x \in (0,1), \ t > 0,$$

$$u(t,1) = \int_{0}^{1} k(1,y)u(t,y) \, dy - \hat{d}(t) + d(t), \quad t \ge 0,$$

$$\dot{y}_{1}(t) = 3(-\hat{d}(t) + d(t)) - y_{2}(t),$$

$$\dot{\hat{y}}(t) = 3(-\hat{d}(t) + \hat{d}(t)) - y_{2}(t) + r(t)(y_{1}(t) - \hat{y}(t)),$$

$$\dot{\hat{d}}(t) = \frac{1}{3}r^{2}(t)(y_{1}(t) - \hat{y}(t)),$$

(4.13)

admits a unique solution $(u, y_1, \hat{y}, \hat{d}) \in C(0, \infty; H \times \mathbb{R}^3)$, and the solution u(x, t) of system (4.13) tends to zero as $t \to \infty$. And $\hat{y}(t), \hat{d}(t)$ satisfies (3.7).

This theorem can be proved by the a inverse transformation of (2.1). We will omit the proofs.

Remark 4.4. Under the constant gain extended state observer (3.22), we choose the controller $U(t) = \int_0^1 k(1, y)u(t, y) \, dy - \hat{d}(t)$. Then for any initial value

$$(u(0,x), y_1(0), \hat{y}(0), d(0)) \in H \times \mathbb{R}^3,$$

the closed-loop system of (1.1) following

$$\begin{aligned} u_t(t,x) &= u_x(t,x) + \int_0^x f(x,y)u(t,y) \, dy + g(x)u(t,0), \quad x \in (0,1), \ t > 0, \\ u(t,1) &= \int_0^1 k(1,y)u(t,y) \, dy - \hat{d}(t) + d(t), \quad t \ge 0, \\ \dot{y}_1(t) &= 3(-\hat{d}(t) + d(t)) - y_2(t), \\ \dot{\hat{y}}(t) &= 3(-\hat{d}(t) + \hat{d}(t)) - y_2(t) + \frac{1}{\varepsilon}(y_1(t) - \hat{y}(t)), \\ \dot{\hat{d}}(t) &= \frac{1}{3\varepsilon^2}(y_1(t) - \hat{y}(t)), \end{aligned}$$
(4.14)

admits a unique solution $(u, y_1, \hat{y}, \hat{d}) \in C(0, \infty; H \times \mathbb{R}^3)$, and the solution u(x, t) of system (4.13) tends to zero as $t \to \infty, \varepsilon \to 0$. Also $\hat{y}(t), \hat{d}(t)$ satisfies (3.7).

Corollary 4.5. The special form of (1.1) is as follows:

$$u_t(t,x) = u_x(t,x) + g(x)e^{bx}u(t,0), \quad x \in (0,1), \ t > 0,$$

$$u(t,1) = U(t) + d(t), \quad t \ge 0,$$

$$u(0,x) = u_0(x),$$

(4.15)

By Theorem 4.3, we can choose $U(t) = -\int_0^1 g(y)e^{(b+g)(1-y)}u(t,y) dy - \hat{d}(t)$, the closed-loop system (4.15) admits a unique solution $u \in C(0, \infty; H)$, and the solution of system (4.14) tends to zero as $t \to \infty$, and $\hat{d}(t)$ satisfies (3.6), r(t) satisfies the condition of (3.5).

9

5. Numerical simulation

In this section, the finite difference method is applied to obtain computation of the displacement. We noticed the closed system (4.13) and (4.1) has the invertible transformation. And system (4.2) is equivalent to (4.1). The numerical simulation of system (4.2) is presented. The steps of space and time are taken as 0.05 and 0.001, respectively. The initial values are $V(0, x) = \sin(2\pi x), \tilde{y}(0) = 0, \tilde{d}(0) = 0$. From the practical view, we choose $d(t) = \sin t$,

$$r(t) = \begin{cases} 1 + \frac{2}{3}t, & t < 10.5, \\ 8, & t \ge 10.5. \end{cases}$$

Figure (1a) shows that system (4.2) is asymptotically stable under the time varying extended state observer. Figure (1b) shows that the time varying extended state observer is convergent.



FIGURE 1. (1a) displacement of V(x,t); (1b) the amplitude of error $\tilde{d}(t)$ (for interpretation of the estimation of disturbance)

Acknowledgments. This research was supported by the National Nature Science Foundation of China (No. 11171195, No.61403239), and by the Scientific and Technological Innovation Programs of Higher Education Institutions in Shanxi (STIP 2014101).

References

- F. Ancona, G. M. Coclite; On the boundary controllability of first-order hyperbolic systems, Nonlinear Analysis, 63 (2005) 1955-1966.
- [2] G. Chen, M. C. Delfour, A. M. Krall, G. Payre; *Modeling, stabilization and control of serially connected beam*, SIAM Journal on Control and Optimization, 25 (1987), 526-546.
- [3] B. Chentouf, J. M. Wang; Boundary feedback stsbilization and Riesz basis property of a 1-d first order hyperbolic linear system with L[∞]-coefficients, J. Differential Equations, 3(2009), 1119-1138.
- [4] V. Dos Santos, G. Bastin, J. M. Coron, B. d'Andrea Novel; Boundary control with integral action for hyperbolic systems of conservation laws: stability and experiments, Automatic, 44(2008), 1310-1318.
- [5] S. Drakunov, E. Barbieeri, D. A. Sliver; Sliding mode control of heat equation with application to arc welding, IEEE Internatinal Conference on Control Applications, Dearborn, USA, 1996, 668-672.

- [6] H. Feng, B. Z. Guo; Output feedback stabilization of an unstable wave equation with general corrupted boundary observation, Automatic, 50 (2014), 3164-3172.
- [7] B. Z. Guo, S. G. Chai; Control theory of infinite dimensional linear systems, Science press, Chinese, 2012.
- [8] B. Z. Guo, W. Guo; The strong stabilization of one-dimensional wave equation by noncollocated dynamic boundary feedback control, Automatica, 45 (2009), 790-797.
- W. Guo, B. Z. Guo, Z. C. Shao; Parameter estimation and stabilization for a wave equation with boundary output harmonic disturbance and non-collocated control, Internat Robust Nonlinear Control, 21(2011), 1297-1321.
- [10] B. Z. Guo, F. F. Jin; Outfeedback stabilization for one-dimensional wave equation subject to boundary disturbance, IEEE Transactions on Automatic control, in press.
- [11] B. Z. Guo, W. Kang; The Lyapunov approach to boundary stabilization of an anti-stable one-dimensional wave equation with boundary disturbance, International Journal of Robust and Nonlinear Control, 24 (2014), 54-69.
- [12] B. Z. Guo, H. C. Zhou, A. S. AL-Fhaid, Arshad Mahmood M. Younas, Asim Asiri; Stabilization of Euler-Bernoulli beam equation with boundary moment control and disturbance by active disturbance rejection control and sliding mode control approaches, Journal of Dynamic and Control Systems, in press.
- [13] V. Komornik, E. Zuazua; A direct method for the boundary stablization of the wave equation, J. Math. Pure Appl., 69 (1990), 33-54.
- [14] M. Krstic, A. Smyshlyaew; Boundary Control of PDEs, A course on Backstepping Designss, SIAM, Philadelphia, 2008.
- [15] M. Krstic, A. Smyshlyaew; Backstepping boundary control for first-order hyperbolic PDEs and application to systems with actuator and sensor delays, Systems & Control Letters, 57 (2008), 750-758.
- [16] S. I. Nakagiri; Boundary control problems of first-order volterra integro-differential systems, Advances in Differential Equations and Control Processes, 9 (2012), 75-113.
- [17] A. Smyshlyaew, M. Krstic; Closed-form boundary state feedbacks for a class of 1-D partial integro-differential equations, IEEE Transactions on Automatic control, 49(2004), 2185-2202.
- [18] G. Weiss; Admissible observation operators for linear semigroups, Israel Journal of Mathematics, 65 (1989), 17-43.
- [19] G. Weiss; Admissibility of unbounded control operators, SIAM Journal on Control and Optimization, 27 (1989), 527-545.

XIAOYING ZHANG

School of Mathematical Science, Shanxi University, Taiyuan 030006, China.

DEPARTMENT OF MATHEMATICS, SHANXI AGRICULTURE UNIVERSITY, TAIGU 030800, CHINA E-mail address: zxybetter@163.com

Shugen Chai (corresponding author)

School of Mathematical Science, Shanxi University, Taiyuan 030006, China E-mail address: sgchai@sxu.edu.cn, Phone +863517010555

10